3

a
Unn 4

a ¢y
HaNIIUAITHUDYD

1 (TIMSS -R) 2542 4 1)
2
2 3
2 4) :
2
1
2 3
Mplus
4 Mplus
2 5
Mplus
2
X2
RMSEA

(Root Mean Square Error of approximation)
SRMR

(Standardized Root Mean Square Residual)
CFl

(The comparative fit index)



TLI

(Tucker- Lewis index)
ICC )
(Intraclass correlation)
R
R2
EDUPAR
ECONO
ATTITU
INTEREST

ACHIEVE "

(mean) (5.D.) '
(maximum) (minimum) (Kurtosis) (Skewness)

(categorical variables)

Mplus version 2.13
Eta



11

41
3,175 54.5
2,656 455
5831 100.00
() 4,382 75.15
() 995 17.06
() 454 779
5,831 100.00
623 10.68
1,442 24.73
1,037 17.78
696 11.94
2,033 34.87
5,831 100.00
41 5831
54.5 455
75.15 17.06
779
34.87

24.73, 17.78, 11.94 10.68



12

(continuous

4.2

ECONO
ATTITU
INTEREST
ACHIEVE

variables) 4

(INTEREST)

2
(ECONO)
(CV)
(INTEREST)
4.2

Mean . D. cv
1.977 .800 40.465
3.143 310 9.863
3.461 452 13.059
50.482 10.015 19.838

79

(ATTITU)
(ACHIEVE)
(ECONO)
(ACHIEVE)
(ATTITU)
(N =5,831)

Skewness  Kurtosis Min Max
-102 -156 .000 4.000
-143 -178 1.500 4.000
-318 -.594 1.000 4.000
414 -547 26.440  81.420



(ECONO)

(Kurtosis)

(ECONO)

(ATTITU)

(INTEREST)

(ACHIEVE)
1

(ECONO)
)

()

( )
)

)

(ECONO)

(Kurtosis)

80



(ATTITU)

43

ECONO
ATTITU
INTER
ACHIEVE

ECONO
ATTITU
INTER
ACHIEVE

ECONO
ATTITU
INTER
ACHIEVE

(ECONO)

Mean
2.011
3.154
3.475
50.349

Mean
1.461
3.100
3.385
48.086

Mean
2.783
3.133
3.486
57.015

(CV)
(INTEREST)

S.D. CV
754 37.493
309 9.797
453 13.035
9.979 19.819

. D. cv
653 44.695
305 9.838
451 13.323
8.743 18.182

. D. Cv
749 26.913
328 10.469
425 12.191
10.222 17.928

(N =4,382)
Skewness  Kurtosis
-.257 045
-151 -121
-374 -491
440 -492
Skewness  Kurtosis
-.022 -.340
-.041 -319
-070 -.788
416 -.366
Skewness  Kurtosis
-.676 125
=277 -313
-323 -947
-173 -1.005

81

(N = 454)

(ACHIEVE)

Min Max
.000 4.000
1.500 4.000
1.000 4.000
26.440 §1.420
(N =995)

Min Max
000 3.500
2.100 3.800
1.500 4.000
29.220 75.270
Min Max
.000 4.000
2.100 3.900
2.250 4.000
32.580 77.750



(ATTITU)

(INTEREST)

(ACHIEVE)

(Skewness)

82



(ECONO)
(ACHIEVE)
(INTEREST)
4.4
Mean
ECONO 2.724
ATTITU 3.116
INTER 3.457
ACHIEVE 53.229
Mean
ECONO 2.224
ATTITU 3.131
INTER 3.448
ACHIEVE 50.957
Mean
ECONO 1.936
ATTITU 3.149
INTER 3.466
ACHIEVE 51.227

(CV)
4.4
5
(N =623)
. D. cv Skewness  Kurtosis
768 28.193 -.807 1.249
323 10.365 -.200 -301
451 13.045 -224 -1.105
10.941 20.554 173 -971
(N = 1,442)
S. D. cv Skewness — Kurtosis
689 30.980 -.638 1.426
309 9.869 -051 -402
450 13.051 -.240 -920
10.173 19.963 ALT -597
(N = 1,037)

S. D. cv Skewness  Kurtosis
738 38.119 -218 -075
302 9.590 -162 -.253
450 12.983 -.286 -.926
9.093 17.750 350 -413

83

(ATTITU)
Min Max
.000 4.000
2.100 3.900
2.000 4.000

31.310 81.420

Min Max
.000 4.000
2.100 3.900
1.750 4.000

29.220 81.420

Min Max
.000 4.000
2.000 4.000
2.000 4.000

29.610 77.750



4.4

ECONO
ATTITU
INTER
ACHIEVE

ECONO
ATTITU
INTER
ACHIEVE

Mean
1941
3.130
3.434
50.246

Mean
1.607
3.161
3477
49.003

622
318
461
9.822

147
308
452
9.880

Cv
32.045
10.159
13.424
19.547

Cv
46.484
9.743
12.999
20.162

5 ()

(N = 696)

Skewness  Kurtosis Min
-192 669 .000
-.068 224 1.500
-.285 -190 1.000
374 -500 26.510

(N =2,033)

Skewness  Kurtosis Min
232 -.206 .000
-199 -079 1.700
-429 -172 1.000
530 -381 26.440

84

Max
3.750
4.000
4.000
76.530

Max
4.000
4.000
4.000
78.970



(categorical variables) 1 (EDUPAR)
4.5
4.5

(1) (N = 581 )

22,71, 1480, 599, 557, 281

2) (N = 4382 )
45.69
21.02, 16.18, 5.91,5.66, 3.08
(3) ()N =995
51.26
37.99, 9.25, 1.01
(4) (N = 454 )

34.58

)

85

2.35

2.46

50

22.25, 13.88, 12.11,

6.39, 551 5.29
(5) (N =623 )
45.77

19.10, 17.34, 899, 578, 530

4.98



(N = 1482 )
47.85
18.45, 1491, 7.98, 506, 347 229
(N = 1037 )
48.31
26.52, 11.86, 4.73, 4.34, 260  1.64
(N = 6% )
43.82
2457, 1839, 4.47, 4.31,2.16 201
(N=2033 )
45.89

30.84, 11.21, 4,57, 3.49, 2.07

(categorical variables)

4.5

86

1.92



4.5

1,324
271

2
21.02

378

37.99

25
551

36
5.78

215
1491

215
26.52

71
24.57

627
30.84

2,669
45.77

2,002
45.69

510
51.26

157
34.58

240
38.52

690
47.85

501
4831

305
43.82

933
45.89

863
14.80

709
16.18

92
9.25

63
13.88

119
19.10

266
18.45

123
11.86

128
18.39

228
n2a

325
557

259
591

10

101

55
(VANN

56
899

115
7.98

49
473

3
474

!
349

164
281

135
3.08

50

24
529

3
4.98

50
347

2
2.60

14
201

42
207

137
2.35

108
246

29
6.39

3
530

3
2.29

7

1.64

2.16

39
1.92

349
599

248
5.66

101
22.25

108
17.34

13
5.06

45
434

30
431

93
4.57

87

5831
100

4,382

100

9%

100

454
100

623
100

1,442
100

1,037
100

696
100

2,033
100



13

(Pearson’'s product moment correlation)

(continuous variables)

variables)
(1)
(
01 10
6
01
073
01
050

Eta

46)

.050

(categorical

(continuous variables)

309, 285, 201 116
Ui}

522, .087 063
01

814

814

4.6



4.6
ACHIEVE INTER ATTITU ECONO EDUPAR
ACHIEVE 1
INTER 116 1
ATTITU 201 814 1
ECONO 285%* 073% 050 1
EDUPAR 309% 087% 063+ 5227 1
@) 3
()
01 4
300, 244, 214 12
a2
127 119
0B 2
o -.065
289, 264 228
300

-065 ,

89



9%

]
001 6
0
a0, 02 08
0L
062 059
0L " 815
2) ()
2
0L " 2%
0 834
3)
2
01 567
0L
" 758
834
059

47



47

! 3

ACHIEVE  INTER
ACHIEVE 1
INTER 122 1
ATTITU 214 815%
ECONO 244% 062%
EDUPAR  .300* 092+

ACHIEVE  INTER
ACHIEVE 1
INTER 077+ 1
ATTITU 127+ 8347
ECONO J19* -001
EDUPAR  -.065¢ 001

ACHIEVE ~ INTER
ACHIEVE 1
INTER 050 1
ATTITU 228%* 758%
ECONO 289+ 076
EDUPAR  .264% 001

01
9 .8 8 )
01 4
311,.240, 227

133

ATTITU ECONO

1
059 1
085 470%*

ATTITU ECONO

1
-031 1
-.008 235%*

ATTITU ECONO

-022 1

-083 567+
5

10

EDUPAR

1
EDUPAR

1

EDUPAR

o1



92

0 4

328,291, 181 115

0 4

244, 183, .167 116

{01 4

207, 231, .162 120

0 3
374, 364 196
364
115
0
500
115 089

01
178



01
103 100
806
01
485 108
064
01
104
01
815
01
A5 107
01

104

01

829
(EDUPAR) 0l
094 093
01

078 066

01

826

05

424,

093

9

087

{01

919,



48

064

ACHIEVE
INTER
ATTITU
ECONO
EDUPAR

ACHIEVE
INTER
ATTITU
ECONO
EDUPAR

ACHIEVE
INTER
ATTITU
ECONO
EDUPAR

5
ACHIEVE

064

196*
374
364"

ACHIEVE
1

133
2407
227
11

ACHIEVE
1

116
183
244"
167+

829

48

INTER

78
AN
075

INTER

.806™
100
087
INTER

1

815"
104
108

ATTITU

1
089"
034

ATTITU

1
103
.093*
ATTITU

1
056
064

ECONO

500
ECONO

A24%
ECONO

485

EDUPAR

1
EDUPAR

1
EDUPAR

9%



48

ACHIEVE
INTER
ATTITU
ECONO
EDUPAR

ACHIEVE
INTER
ATTITU
ECONO
EDUPAR

ACHIEVE
1

162"
210"
120
231
ACHIEVE
1

115
181
Qe

328*

INTER

829
104*
107+

INTER

826™
.066™
094

ATTITU

1

057
068
ATTITU

078

093"

ECONO

A45™
ECONO

519

EDUPAR

1
EDUPAR

%



2
1 2
2
(one - way ANOVA)
(2)
(Ho=Cl1= 2= 3=...
(
2545) (3)
2.1
2
2
( ) (
U2 =03
2
Levene's test P =.000

Hoc Analysis) Dunnett's T3

9%

(1)
(3)
=1
, 2544;
Levene's test
)
Ho= fi 1=
01
(Post
4.9 4.10



4.9

SS df
25167.99 2
559605.52 5828
584773.52 5830
Levene's test = 18043, P=.000

4.10
2
X
50.349
| () 48.086
() 57.016
** P< 01
4.10
2
(3
()
22

MS F
12583.99 131.056
96.02

Dunnett's T3
(1) . (2)
2.26%*

-6.66% -8.92%

01

(one - way ANOVA)

M2~ 1L M4~ MS

Sig.
.000

(3)

Ho =

97

IX1



2
P = .000
4.11 4.12
4.11
574685.40
584773.52

Levene'slest = 12.016, P=.000

412

53.230

50.958

51.227

50.247

49.004
*P< .05, P< .01

4.12

01

(Post Hoc Analysis)

df
4

5826
5830

2.27*
2.00%
2.98%
4.22%

Levene's test

MS F
2522.031 25.568
98.642

Dunnett's T3

(2) CIC)
269
711 .980¢

1.95%  2.22%  1.24%

Dunnett's T3

Sig.

.000

%



9%

3
Mplus version 2.13
2
(within level) 2 5,831
(between level)
150
(~=4619, df=2, P=.0975 RMSEA =.015, CFI
= .997. TLI = 973, SRMR = .008, SRMR = .000 (
4.1) CFITLI 1 95  RMSEA
SRMR 0 RMSEA = .015 < .06 SRMR
.08 P
(within level)
01
177 048
012 004

01

200 044
019
.01 029

022

243



(r=.201)

(ECONO)

01
-.692 598
298

258

4.13

4.13

INTEREST
ATTITU
ECONO
EDUPAR

ATTITU
ECONO
EDUPAR

(within level)
(2 <1< .4 2
(r=.243)
(r<.2)

(between level)

692, .368 -.328
222
884
ACHIEVE
048+
168% 009
012
004
INTEREST
200+
039+ 005
006 013

.048*

177

012
.004

200%*
044

019

01

100

-417



4.13

EDUPAR

EDUPAR

INTEREST
ATTITU
EDUPAR

ATTITU

EDUPAR

EDUPAR

EDUPAR

**p< 01, ¥p <05

(r = .863)
(r = 549)
(r = 432)

029*
015

243%

368
002
181

423"

508%
- 443*
5357

47
627*

884%*

(r>8)

(4 <1 <.6)
(r=.580)

101

()
ATTITU
029*
007 022
EOONO
243%
ACHEVE
368
220 222
-509 -328%
269 £92**
INTEREST
598
-249 - 592
-236 298
ATTITU
- 417
-368 258
ECONO
884%*
(between level)
(6 <rC8)
(r=.670)
3
(2<r< 4) 3

(r=.349)



(r< .2)

Mplus

ICC

493 449 083

5.9

78.2

ICC

(within Level)

ACHIEVE
INTEREST
ATTITU
ECONO

ACHIEVE

INTEREST

ATTITU
ECONO

102

(r = .246)
(r = .226)

(Intraclass  correlation, ICC)

ICC .05 (Rosser and Jonhsrud, 2003)

(Multilevel Analysis)

.056

42, 34 1

59.2, 513 10.5

5676 + ,048*(INTEREST) + ,168**(ATTITU)

10.091 +.200% (ATTITU) + ,039**(ECONO) + .006 (EDUPAR)
34917 + .029* (ECONO) + .015 (EDUPAR)

1219 + .243* (EDUPAR)

(between Level)

5,676 + ,368**(INTEREST) + ,002(ATTITU) + 181 (ECONO)
+ 423*(EDUPAR)

10.091 +.598* (ATTITU) - 443*ECONO) + 535* (EDUPAR)
34917 - 417 (ECONO) + .627* (EDUPAR)
1219 + .884* (EDUPAR)



4.1

4.14

EDUPAR

ATTITU

.884*

ECONO

015

EDUPAR

.243%

ECONO

41

INTEREST

ATTITU

INTEREST

ACHIEVE

368%*

ACHIEVE

4

ol « | PR K 1 SO el



4.14
2 (N =5,831)

=4619, df=2, P=.0975, CFI=.997, TLI=.973, RMSEA =.015, SRMR
(between level) =.000. SRMR (within level) =.008

EDUPAR ECONO ATTITU INTEREST ACHIEVE
EDUPAR 1
ECONO 23 1
ATTITU 022 033 1
INTEREST 020 047 201 1
ACHIEVE 036 013 178 082 1
EDUPAR ECONO ATTITU INTEREST ACHIEVE
EDUPAR 1
ECONO 863 1
ATTITU 226 122 1
INTEREST 246 097 549 1
ACHIEVE 670 580 349 432 1
(Intraclass correlation)
ECONO ATTITU INTEREST ACHIEVE
Intraclass correlation 4%3 083 056 449
R- SQUARE (within level)
ECONO ATTITU INTEREST ACHIEVE
R -SQUARE 059 001 042 034
R- SQUARE (between level)
ECONO ATTITU INTEREST ACHIEVE

R - SQUARE 182 105 513 502

104



105

Mplus
(multi - sample or multi - group analysis) Mplus
2
(multilevel path analysis) Mplus version 2.13
Mplus version 2.13
( 4.2 116)
X =8.001, df=2 P = .0179,
RMSEA =.026, CFI =.994, TLI = 943, SRMR 011, SRMR
.000 TLI 95 P .05
2
) = 9.843, df = 2,
P=.0071, RMSEA = .063, CFl =.924, TLI = .244, SRMR .018, SRMR
.000 CFI, TLI 95 P .05

%2 = 5121, df = 2, P = .0757,
RMSEA= 059, CFI = .977, TLI = 965 SRMR = .013, SRMR
= .000 CFI, TLI 1 95 RMSEA



SRMR

4.15

X2
df

P- value
CFl
TLI

RMSEA
SRMR

Between level

SRMR
Within level

0
.08

(N = 4,382)
8.001

0179
994
943
026

.000

011

01

RMSEA = .015 < .06

P

(N = 995)
9.843

0071
924
244
063

.000

018

174 074

SRMR

(N = 454)

5.121

0757
977
965
.059

.000

013

(within level)

106

4.15

(N =5,831)
4.619

0975
997
973
015

.000

.008



.01
269 052
01

044 035

269
01
-.039, .008
-041 =025
073
01
221, -.098
1
-042, -.015

-001 .067

167

002

010

107

01

01



108

01
218
(Within Level)
269
.002
(between level)
368, .323, .278 -174
01
147 - 744
110
01 -435
330
01
850
01 798

222, -.060 -.042

.210,.196 118

.05 -521



250

01

.05

306, -.039

-571 -112

964

-012

738
-012
375, -.153 -145
964
(Between Level)
4.16

109

801

01



4.16
VI« h!

INTEREST

ATTITU
ECONO
EDUPAR

ATTITU
ECONO
EDUPAR

N
ECONO
EDUPAR

EDUPAR

INTEREST

AlTIT
ECONO
EDUPAR

ATTITU
ECONO
EDUPAR

EDUPAR

EDUPAR
#p < 01, *p < 05

07

174+

269+
052

035"
a4

269"

T4

- 144

-110

-435¢

ACHIEVE

02
167
004
-006
INTEREST

-39
8
002
ATTITU
.
-025
-04
ECONO

073
ACHIEVE

-060
22
198
-042
INTEREST

1%
118
20
ATTITU
-521*
ECONO

138

- 098"
221+

-015

010

-091

218

801

-(12

588

-971

964+

110



(within level)

(2 <1< 4 2
(r = .271)
(r = .269)
(r<.2)
(r<.2) 10
(r = .165)
(2 <r<4) 2
(r=.221)
(r=".218)
(r< .2)
(Within Level) 3
211
(between level)
1) (r>.8) 1
(r = .824)
(6<rcC8 2
(r = .691)
(r =.687) (4<r< 6) 3
(r=.546)
(r = .478)
(r = 439)
(2<r< 4) 2
(r = .290)
(r=.285) 1 (r< .2
2) . (6<r<.8) 1
(r=.674)

(2<r<4) 2



112

(r = .312)
0 =-.232) (r<2)
3) . 1 r>38) 1
(EDUPAR) (r = .948)
(6<r<.8 2
(r = .736)
(r=.688) (4 <r<.6)
1
(r=.517) (2<r< 4) 2
(r=317)
(r=.261) (r<.2)
(Between Level)
3
948
(Intraclass  correlation, ICC)
Mplus version 2.13
ICC
ICC .05 (Rosser and
Jonhsrud, 2003)
(Multilevel Analysis)
ICC 459, .402, .072
061 . 3
ICC 352, .340 078
ICC = 041 .05
3
ICC 564, 294 .164

ICC = .020 .05



62.8

18.6

(Intraclass  correlation, 1CC)
ICC = .564

7.2, 356

, (R2
75
28
2
5.8
(R2
3
1 7.2
002
74.2
16.1
54.5
14.7

93.0

306 178

(undefined)

113

3

ICC = .020

3

47, 13 2

722,

33.5,



114

93

(within Level)
ACHIEVE = -5.297 + ,074**(INTEREST) + ,155**(ATTITU)
INTEREST = 912 + .269** (ATTITU) + ,043**(ECONO) - .OOI(EDUPAR)
ATTITU 37.602 + .035** (ECONO) + .035** (EDUPAR)
ECONO 1.638 + .269** (EDUPAR)

(between Level)

ACHIEVE = -5.297 + 368HNTEREST) + .004(ATTITU) + .101 (ECONO)
+ 506*(EDUPAR)
INTEREST = 912 « .747* (ATTITU)- 420**(ECONQ) + .456%* (EDUPAR)
ATTITU = 37.602 - .435% (ECONO) + .700* (EDUPAR)
ECONO = 1.638 + .850** (EDUPAR)

(within Level)

ACHIEVE = 4.404 + 022(INTEREST) + ,166**(ATTITU)

INTEREST = 33.989 - .039 (ATTITU) + .008(ECONO) - .002 (EDUPAR)
ATTITU = 34643 - ,025(ECONO) - .040 (EDUPAR)

ECONO = -0.462 + .073* (EDUPAR)

(between Level)

ACHIEVE = 4.404 - .060UNTEREST) + ,234(ATTITU) - .927* (ECONO)
- 805*(EDUPAR)

INTEREST = 33.989 +.196 (ATTITU) + 219(ECONO) - .542* (EDUPAR)

ATTITU = 34643 - .521* (ECONO) + .635* (EDUPAR)

ECONO = -0.462 + .738* (EDUPAR)



115

(within Level)

ACHIEVE = -43.829 - .098*(INTEREST) + ,220**(ATTITU)
INTEREST = 48.254 - 015 (ATTITU) +,044(ECONO) + .002 (EDUPAR)
ATTITU = 27.344 - 067(ECONO)- .106 (EDUPAR)

ECONO = 2276 + .218* (EDUPAR)

(between Level)
ACHIEVE = -43.829 + B801~INTEREST) + ,006(ATTITU) + .115(ECONO)
- 125(EDUPAR)

INTEREST = 48.254 +.375 (ATTITU) - 061(ECONQ) + .072 (EDUPAR)
ATTITU = 27.344 - 571 (ECONO) + 438 (EDUPAR)
ECONO = 2276 + .964* (EDUPAR)

4.2 4.17



4.2

ATTITU ATTITU
700%2 m}v
EDUPAR 004 EDUPAR 234
.506** - 805**
-435%
850[** 747% ACHIEVE y N 738** 196 ACHIEVE
456%*
101 927%*
ECONO ECONO
.368 =
. 68 060
M INTEREST INTEREST
ATTITU N ATTITU
V -040
ERDUPAR 55%% EDUPAR .166**
269** 269%% ACHIEVE 073*+ -039 ACHIEVE
ECONO ECONO
\ L074*# 022
043%7 INTEREST m INTEREST
n
ATTHL A
438
EDUPAR 006
125
=571
964** 375 ACHIEVE
072 %
ECONO
801*
A
-.061 INTEREST
ATTITL
EDUPAR -220%*
218%* -015 ACHIEVE
ECONO
'.')98"
INTEREST

y N

116



417

'=8.001,df=2, P=.0179, CFI = .994, TLI = .943, RMSEA = .026, SRMR (bw) = .000, SRMR (wt) = .011

5= 9.843, df= 2, P=.0071, CFl = .924,TLI = .244, RMSEA = .063, SRMR (bw) = .000, SRMR (wt) = .018

= 5.121,df=2, P=.0757, CFl = .977, TI.I = .965 RMSEA = .059, SRMR (bw) = .000, SRMR (wt) = .013

HDU ECO ATTI INTE ACH EDU ECO ATTI

F 1 1

F.CO .269 1 073 1

ATT! .045 .044 1 -.042 -.028 1

INTER  .023 .054 211 ! -.000 -009  -.039
ACM 053 .009 126 117 1 -075 013 165

EDU ECO ATTI INTE ACH  EDU ECO ATTI

EDU 1 1

FCO 824 1 674 i

ATTI 285 141 1 189 -.047 1
INTER 290 078 687 1 S AR LR
ACH 691 546 439  .478 1 -039 312 .006

(Intraclass correlation)

ECONO ATTITU
402 072
.352 078
564 .164
R- SQUARE (within level)
ECONO ATT[TU
072 .003
.005 .002
047 013
R- SQUARE (between level)
ECONO ATTITU
122 161
545 .186
930 178

INTE

.016

INTE

.032

ACH EDU

218
-.092
012

ACH EDU

.948
077
015

INTEREST

.061
041
.020

INTEREST

075

.002

.002

INTEREST

142

147

.306

ECO

044
043
.048

ECO

-171
-.062

.688

ATTI  INTE
|
-013 1
21 -101
ATTI  INTE
1
317 1
261 517
ACHIEVE
459
340
294
ACHIEVE
036
028
058
ACHIEVE
628
335

undefined

ACH

ACH

17
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Mplus
(multi - sample or multi - group analysis) Mplus
(model form)
2
(multilevel path analysis) Mplus version 2.13

Mplus version 2.13

( 43 134 )

X2=18.302, df=2, P = .0001, MSEA = .114, CFI = .990, TLI = .900,
SRMR = 022, SRMR = .000
TLI 95 P 14

x 2= 9.158, df=2, p=.010, RMSEA =.050, CFI = .987, TLI = .865, SRMR
= 016, SRMR = .000 TLI
95 P .05

X 2=2555, df=2,p=.2753, RMSEA = .016, CFI =.999, TLI = .987, SRMR

= .009, SRMR = .000 CFI, TLI

1 95 RMSEA SRMR 0 RMSEA =

.015<.06 SRMR .08 P



Within level

119

%2=50902, df=2,p=.0512, RMSEA = .053, CFI = 988, TLI = .950, SRMR

1 =.011, SRMR =000 CFI, TLI
1 9  RMSEA  SRMR 0 RMSEA =
015<.06 SRMR .08 P
b2
= 1.081, df=2, p = 5799, RMSEA = .000, CFl) =
1.00. TL1=1.01. SRMR = 006, SRMR =000
CFI, TLI 1 9%  RMSEA  SRMR
0 RMSEA = 015 < .06 SRMR
.08 P
2
4.18
4.18
5
(N = 623) (N= 1,442)  CN=1037)  (N= 696)
x\ s (N =2,033)
X2 18.302 9.158 2.555 5.902 1.081
df 2 2 2 2 2
P- value 0001 01 2753 0512 5799
CFI 990 987 999 988 1.0001
TLI 906 865 987 950 1.019
RMSEA 114 050 016 053 000
SRMR
Seteen lovel 000 000 000 000 000
SRMR
022 016 009 011 006



035

01

01

-031

01

01

195, .015

182

-013

063

014

120

(within level)
261
780
.050 -019
01
237
013
213



014

01

01

077

-.002

025

01

01

193

328

169

.056
113
004
085
013
.065

201

001

271

012

198

029

016

121

014

01

.007

.01



041 010
01
167
-012, .003
01
020 004
780

-.000

254

-.000

260

122

01

104

057 016

01

4.19



4.19

INTEREST
ATTITU
ECONO

EDUPAR

ATTITU
ECONO
EDUPAR

ECONO
EDUPAR

EDUPAR

¥ < .01, *p<.05

01

01

.261
195
015

-.013

180**
.050

-.019

.035

-.031

237**

01

.063

182

014

013

.213%*

029

014

077

.056*

.201%*

844

ACHIEVE

113
169
.001
.004

INTEREST

.198%*
.016
.007

ATTITU

-.002

014

ECONO

271%

-.547

522

.085*

193%*

012

013

.328%*

.065%*

.025

041

.010

.254%*

123

-.012

167

-.000

.003

104%

.057*

016

.004

.020

.260%*

(between level)

-112

644

422

310



o1l

01
257 -213
-118 -104
01
403 -.256

749

960

705

915

901

343

-.333

948

-.242

665

-.004

310,

-.099

124

01

01

162,

01



01
-485, .179 164
01
995 587
-.085
01
-452
01
748
-.125,-.055
215,188
AT6 -.039
01
960

4.20

125

791

874

01
741

-.008

-019

920

.000



4.20
INTEREST -547%*
ATTITU -112
ECONO 522
EDUPAR 844
ATTITU 644
ECONO 422
F.DUPAR 310
ECONO 687
EDUPAR 511
EDUPAR 960

#p < 01, *p < .05

' (2 <r< 4

(r=.237)

(r< .2)

149*
.343
.000

.105*

665**
-333
-.004

-.213
257

RJE L

1

(r<.2)

5
ACHIEVE
162 -.485 -.055
-118 179 -.008
310 791 -125
-.104 164 148
INTEREST
948* 587 -.019
-.242 995%* 215
-.099 -.085 188
ATTITU
-.256 -.452 -.039
403 8744 476
ECONO
901* T41* 920**
(within level)
(6<r<.8) 1
(r=.780)
(r<.2)
(2 <r< 4 2
(r=.217)
(r=.201)

(2 <r< 4 1

(r = .271)

126



12

(2<r< 4) 2
(r =.333)
(r = .254) e
(2 <1< 4
| (r = .260)
1 (r<2)
(Within Level) °
780
002
(between  level)
(r>.8 3
(r = .934)
(r = .824)
(r = .820) e
(r = .745)
(4 <r<6) 3
(r="476)
(r= 472
(r= 419) g Y 2
(r = .376)
(r = .335)
(r<.2)
(r=.156)
(r>.8)
(r = .879)
(6<r<g8 4
(r = .692)
(r = .680)
(r = .668) o
(4<r<f) 3



(r = .515)
(r = .464)
(r=.421) (2 <r<.4)
(r = .236)
(r<.2)
(r=.187)
r>8 1
(r = .870)
(6<r<8 1
(r=.678) (4<r< 6) 2
(r=.577)
(r = .498)
(2<r< 4) 4
(r = .335)
(r = .294)
(r = .325)
(r=.266)
(r<.2)
(r>.8 !
(r = .900)
(6<r<8 1
(r=.798) (4<r<.6) 3
(r = .506)
(r = .564)
(r=.534)
1 (2 <r< 4 1
(r=.322) 1 (r<.2)
(r>.8) 1
(r=.893)
(6<r<8) 2
(r = .717)
(r=.641) (4<r<6) 3

(r = .498)

128

1



129

(r = .492)
(r = .402)
(2 <r<.4) 4 (r=.364)
(r=.347)
(r = .309)
(r=.230)
(Between Level)
5
934
-.006
(Intraclass  correlation , ICC)
Mplus version 2.13
ICC
ICC .05 (Rosser and
Jonhsmd, 2003) 3
(Multilevel Analysis)
ICC AT73. 372 .059
ICC = .044 .05
ICC
502, .308, .117 072
ICC 496, .307, .067 052
ICC 455,253, 113
064 3

(Multilevel Analysis)



ICC A71, 404 071
043 .05
(Intraclass
Mplus version 2.13 5
496
043
(R2
61.0
2
51
74
4.1 4.0
6.5, 4.4 3
(R7)
(Within Level) 5
1 .000
92.2

87.1, 56.6 445

correlation, ICC)

118

6.8

61

ICC
ICC

4.0, 37

2.8

130

ICC

6.5 56
9

14



131

83.7
78.2, 72.7 1.4
95.0
88.0, 812 175
97.2
88.6, 68.0 8.9
84.6
55.6, 42.9 22.1
(R2
(Between Level) 5
97.2

(within Level)

ACHIEVE - 8574 - 261**(INTEREST) + .399**(ATTITU)

INTEREST = 1396 + ,780**(ATTITU) + 023(ECONO) + .023* (EDUPAR)
ATTITU = 39.773 + 035(ECONO) - ,040*(EDUPAR)
ECONO = 3.009 + 237*(EDUPAR)

(between Level)
ACHIEVE = 8574 - 547*(INTEREST) + .240 (ATTITU) + ,589(ECONO)
+ 442(EDUPAR)
INTEREST = 1.396 + .644**(ATTITU) - 020(ECONOQ) + 212 (EDUPAR)

ATTITU = 39.773 + 687**(ECONO) - .148 (EDUPAR)
ECONO 3.009 + .960* (EDUPAR)



132

(within Level)

ACHIEVE = -10.300 + ,063*(INTEREST) + ,169**(ATTITU)
INTEREST = 6.750 +.213*(ATTITU) +.013 (ECONO)+ .054** (EDUPAR)
ATTITU = 29.468 + ,077*(ECONO) + .041* (EDUPAR)

ECONO = 2.909 + .201* (EDUPAR)

(between Level)
ACHIEVE =-10.300 +,749**(INTEREST) -.155(ATTITU) + .216* (ECONO)
+ 101**(EDUPAR)
INTEREST = 6.750 +,665**(ATTITU) - .192 (ECONO) + ,601(EDUPAR)
ATTITU 29.468 - 213(ECONO) + .452 (EDUPAR)
ECONO 2.909 + 915* (EDUPAR)

(within Level)

ACHIEVE = 9.783 + .113**(INTEREST) + ,147*(ATTITU)

INTEREST = -4.094 + 198*(ATTITU) + 017(ECONO) + ,015(EDUPAR)
ATTITU = 39.237 - ,002(ECONO) + ,015(EDUPAR)

ECONO = .855 + .271* (EDUPAR)

(between Level)

ACHIEVE = 9.783 + ,162(INTEREST) - ,272(ATTITU) + .366 (ECONO)
- 224 (EDUPAR)

INTEREST = -4.094 + 948**(ATTITU) - 537(ECONO) + .254 (EDUPAR)

ATTITU = 39.237 - 256(ECONO) + .634* (EDUPAR)

ECONO = 855 + .901** (EDUPAR)



(within Level)
ACHIEVE = -293 + ,085*(INTEREST) + .166**(ATTITU)
INTEREST = 4.328 + ,328**(ATTITU) + ,052**(ECONO) +.054** (EDUPAR)
ATTITU 30911 + ,041(ECONO) + .028 (EDUPAR)
ECONO 3.545 + 254**(EDUPAR)

(between Level)
ACHIEVE = -293 - .4850NTEREST) + .464(ATTITU)- .496 (ECONO)
+ 390(EDUPAR)
INTEREST = 4.328 + 587**(ATTITU) - ,789(ECONO) + .652 (EDUPAR)
ATTITU = 30911 - 452(ECONQ) + .614* (EDUPAR)
ECONO = 3545 + .741* (EDUPAR)

(within Level)

ACHIEVE = 7.842 - .012 (INTEREST) + ,168**(ATTITU)

INTEREST = 36451 +,104**(ATTITU) + 057*(ECONO)- ,030(EDUPAR)
ATTITU = 37.305 +,004(ECONQ) + 019 (EDUPAR)

ECONO = 1121 + .260* (EDUPAR)

(between Level)
ACHIEVE = 7.842 - ,055(INTEREST) - ,009(ATTITU)- .144 (ECONO)
+.888**(EDUPAR)
36.451 - ,019(ATTITU) + 215(ECONO) + ,461(EDUPAR)
37.305 - .039(ECONO) + .512* (EDUPAR)
1121 + .920* (EDUPAR)

INTEREST
ATTITU
ECONO

4.3 421

133



4.3

w] AU 452 ATV 634% ] ATV
i 240 = -155 vl
imui'AK o LDUPAR EDUPAR
442 101 -.224
6871 2 A
960 8 m ACHIENE Son 213 b65** ACHIEVE s
. 5 / 915 25 .pos 901** - 048%*
_ 2 589 \ 216 oy .366
£ 547+
EQONO ! S48 FCONO ! -149* HCONO
S INTEREST m INTERINT =237 INTEREST
I 1
4 AlTiu ! 04[‘ AliITIU \ 1 .0|5 ATTu
- " "
i) Ur'AK / \\399‘- ) FDUPAR g EDUPAR
- 035 \¢ X 077+ x -002
780%* ACHIEVE 201%= ACHIEVF 271%% 198+
023 1 0547# ! 015
lZ40)0) 261%" ¢ ECONO ! ECON
\\IVV J ) X " HON L
M INTEREST I 013 INTEREST Lo 017 W INTEREST
1 i |
L} "
] I
\ 2 ;
614% AU W 512¢ ATITIU W
s W
) \\\\<::: | <] -009
FDUPAR "
-.396 k 88R** 1
=352 N
741%# D AUV > 019 acve [y L
652 _;,,—ff"
490 ! 114 !
/ " ;
ECONO A8S ~.055 !
v J \ v
"m BIRIA . .Zh INTERES T J
1 1
w W
|
y ATTIIU 3 " 3\ '
.02 - y AU .
EDUPAR n EDUFAR L
041 ) b 1
N g ‘]
.254%¥ - ACHIEVE 260%* ACHIEVE N
\ : 030 l
ECONO ¥ I ECONO r 5
3 )
30 R J v
OS2\ rerest . OST*OM INTEREST ¥
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1%}
~
~

ACHIEVE

162

147

ACHIEVE




421

LDU
EDU 1
HCO 237
ATTI  -032
INTER 004
ACM 027
EDUPAR
ECONO
ATTITU
INTEREST
ACHIEVE

EDU
LDU |
FCO 934
ATTI 376
INTER 419
ACH 824

5
"=9.158, df=2, P=.0100, CF1
"'=2555, df=2, P=.2753, CFl =.999, TLI = .987, RMSEA =
= 5902, df=2, P=.0512, CFI =.991, TLI = .910, RMSEA =
5=1.081,df=2. P=.5799, CFl=
ECO ATTI INTE ACH EDU
1
1 201
.026 1 .057
.049 780 1 .069
074 195 .050 .053
EDU ECO ATT
1
.254 1
.039 048 1
.080 .082 4333
.054 017 .194
ECO ATTI INTE EDU
1
1 879
472 1 236
476 145 1 515
.820 .335 156 .680

.053,

ECO ATTI INTE ACH

.085 1
.042 217 if

-.033 183 .100 1

INTER ACH EDU
1

.260

.020

i) -.013

140 1 024
ECO ATTI INTE ACH

1
187 |

421 .668 1
.620 464 692 1

EDU

142
170
.030

.029

ECO

.009

.050

012

EDU
1
325
294
577

498

135

18302, df=2,p=.0001, CFl= 990, TLI = .900, RMSEA = .114, SRMR (bw) = .000, SRMR (wt) = .022
= 987, TLI = .865, RMSEA = .050, SRMR (bw)=.000, SRMR (wl) = .016
016, SRMR (bw)=.000, SRMR (wt) = 008
RMR (bw) = .000, -SRMR (wt) = .011

1.000, TLI = 1.019, RMSEA = .000, SRMR (bw) = .000, SRMR (wt) = .006

ECO ATTI INTE ACTI
1

198 1

021 002 1

.022 014 211 1

ATTI INTER ACH
1

104 1

167 .005 1

ECO ATTI INTE ACH
1

678 1

-.006 .266 1

124 335 870 1



4.22

EDUPAR
ECONO
ATTITU
INTEREST
ACHIEVE

R- SQUARE

R- SQUARE

EDU

900
182
087
506

5 ()
ECO  ATTI  INTER ACH
1
106 1
-054 798 1
322 564 534 1
(Intraclass correlation)
ECONO ATT1TU
372 044
308 117
496 067
253 113
404 071
(within level)
ECONO ATTITU
.056 002
040 .009
074 .000
065 003
068 .000
(between level)
ECONO ATTITU
922 445
837 074
812 175
886 089
846 221

EDU
1
893
402
498
i

ECO

364
492
641

INTEREST
.059
072
052
064
043

INTEREST
610
051
040
118
014

INTEREST
566
182
.880
972
429

ATTI

1
230
309

INTER  ACH

1
347 1

ACHIEVE
A73
502
307
455
471

ACHIEVE
065
037
041
044
028

ACHIEVE
871
127
950
680
556
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